EH 2025/6/17

REX

INATIDZ

N2OAIl (EEsaET
2P mm i & X

F%  2008F 11R
2004=F 1H ZEHik

BEICERmitia Nt L W\ E S W T, Bim it HAR I 3% =8k m
DEERKRICEVEESARIEEHVET, FHT TERILETL,
EEHOIHERIE, RFY OREXBFEEMASEVADETE L,

G T BRICIIEMIRY DB TETRVESEIT L ET,
T (FF)ICHULELTRITIC, T a2 THEUET,

o

— . N20AII
- [201015]

BR

, IHa-gRs
2, E—9-THEE
Auy-—ER




N20AITI FHH 2025/6/17
201015 1. F#a-FELSE




N2O0AII EHH 2025/6/17
201015 1. F#hE -FEEZ

ME| BmES m_ B HE| RHEHM I3
HYO1 |E-9NSF#a 1 [ 133,410| ##a#T
02HY |HF— =N 3,190| fHaRT
HY28 [#FF 990 MHia#eT

HY30 [fFEESH 460| MHHaiRT

T050 [FrvFiER 170

HY31 |FFEIEEhEE 590| Mt#aT

HY29 |#FFER{dEH 1,790 MHia#T

WH12 |REE (WW-12) 170

WL65 [ZRTU T (6%X28) 170
NATIEISY (R1/8 SP-4) 400

HY27 [E—%7H/\— = HigHk T
RS (5) 170

W250 [P (M5X6) 170

WA46 |55 (R1/2) 470

NO48 [RkL—7 1,160

HY96 |ZRL—371/\— 770 HHERT

NO49 [ibl-T#H-2557k 55mmifk 400

WASG5 [9vyERU (M5x8) 170

TO56 |%5kitF 770

ZJ50 [r—=2/INUR (10mm) 240

HY24 |90 L& 1,160| #Hi#afT

HY20 |##ftih1—Ib 9,160 Mg T

HY02 |Fvvo—=xK (RT-NS)

—_
H

35,580| ##afk T

HYHO |Frv oAk ik T

(L

HYSO |gixo0O—)b HiaikT

HOCJ |Fv v oM 1% 13,990

GONS |NSEFvF 1% 13,730
W068 |7"ERfERILE (M6x45) 170

HY46 |FE&S 19,070] fHH#a#T

HY21 [R/IX14T(A) 4,830 MHHaHRT

HY22 [Z/\1T(B) 3,450| fH#a#RT

HY58 [FESRUIER 400| MHiaHeT

Aa[nla|wlwlw|wlwl|w|w|w]w|wrlrn oo oo o] == === === =] =
RIS Y P (e 15 Tt 13 S o] S et P (e oo BT oY [ ] NS 1] 1 e e 1) 1 B o (] S (R S P o 5 e S S Rl Kl [

3
1
1
1
1
WH18 |)KFEEE (WW-18) 1 170
Z514 10UV T (P14) 1 170
W765 |7NENRMEIESHRU KFEH#HEME6X8)| 3 170
Y42 [EWYNIRI 1 3,570| MHiaHT
G861 |10 RbwIN 1 400
HY49 |AA1IVEH 2 200
W865 |/"ANMEIEHNAL (BEM6X12) 1 170
WD06 [7"ETFvh (31 M6) 1 170
HY45 |'J—<UIR#eE> 1 170| #HeHT
HY34 [®*—LTL—h 1R ERamta AT | 1 — et T
2

WN34 |Hikik (#4x5) 170




EFrH 2025/6/17

N20OAII
201015 2. E—%-E#&HT




N20AII FHH 2025/6/17
201015 2.E—%- XAt

M| HBmEs m A HE| RESM w2
HYOJ [F#a 1 — et T
HYO7 [FvH/\— 1 116,530 | &Y
HY10 |F#Fitvh 15 — et T
Y11 [FEXYIV(A) 4,580 | #H#aikT
HY12 |F#X5IL(B) — et T
HY13 [T4R5bE—X — et T
WH46 |IREES (WW-46) 200

WWA45 |CH LS (§HFE45) 460
HYO8 |EAVRE—AD-Frtvh 1 8,020 | MHia#RY
S373 |RX7PUDT (608727) 1,080
S374 | RX7PUDT (600027) 1,530
HY09 |O—RE—A2-FrEvh 1 8,650 | MHia#T
J300 [RPUT (600122) 1,030
HY15 [Y—F#h5— 270 | MHiEaT
HYO3 [E—% (100V) — et T
MHO1 | 7”~XFa7 (100V) 21,610 | MH#aHT

MHO04 [H—ihUmRILE 770 | AT

TYM2 |[A—iKVTZ5Y

Y

1,030 | f#e#RT

MHO5 [H—hYFvryT 330 | e T

TY37 [AAWIRDT 10,690
Z507 |OUVT (P7) 170
WGO05 |IF1afEEE (5) 170
W265 [BAN/MAU (M5x12) 170
W256 [BAN/MRU (M5%x30) 170

57916-21057F 105mmifi 400
ZJ50 |h—=RI\NUR (10mm) 240
W062 [F"AEIREERILE (M6%16) 170

A N ANAVI ALY, (M5%x40) 170

HY18 |O—RKJYa 650 | #H#aikT

J—r2)yT 270 | HEaT

A N ANAVI ALY, (M4x14) 170 | #H#afeT

HYO5 [F+J%914vI-F—= (2P)

Y

3,570 | ##aRT

WIWW[IWIWIW[WININ[NINININ[ININININ [ === = =2 === ==
oG B|w|No]| =[O0l |Qfor |t a|wn]|=[o|v|o|<a|or v & [wir = | [ OR[N LT (W] =

W241  |[=8AXIhRub (M4x6) 170

HY04 [REIRAYF — ffigic T
Ty vERuU (M3x12) 170 FTRU

MHO2 [RT—% (100V) — et T




SEHH #HHHHH

N2OAII
201015 3. Hv%- -7




N2OAII E#H 2025/6/17
3. s -U—VER

oE| BRES B % WE| e B
1 [OHCUTS [hvd—=t 5fs 1| 24,150 ##ART

OHCU2S [1vs—= A7V 1R | 24,750] &7
2 HY53 |AvdIL—L4L 1 11,830| ##a#RT
3 | HY55 |AvdNIRIL 1 1,790 Ma#eT
4 HY54 [hydHAE 1 4,460| HaT
5 | 135070 |AvoH 1 — Zmiki)
6 CT07 |hvoEZV(A) D2JE 3 1,530
"/ HY61 [HvdIL—LEY 2 270
8 HY63 [Av%idt 1 170
9 HY57 |[Avd0—-5 2 770
10| _HY60 [hvo= 1| 3,060 (H&RT
11| HY62 [HhvozEY 1 170
12
13
14
15
16
17
18
19
20
21 [OHRM1S |U—=~—3 1= 6,870| MHaikT
22| HY51 [U—~NmRILE 1 1,530 MH#a#T
23| HY50 [U-~XH 1 5,350| ftHa#kT
24| WL62 [RTVITEY (6%X16) 1 170
25| HY52 [U-VERfIEH 1 1,480 a7
26| WL53 [RTUTED (5%16) 1 170




